[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

1.9

Ratio

Efficiend

107 1

10 0?
TP vertr (cr%)

[—=— DQM_NoFt_stepZ_ttbar-phasel-newgeom

M_noCPE_step2_tthar-phasel-newgeom

M_cpeGenericTime_step2_ttbar-phasel-newgeom
M_cpeTemplatedTime_step2_ttbar-phasel-newgeom

~ 0.0
9.009
%))
9.008
&
9.007
‘©
$.006
()
0.005
0.004
0.003
0.002
0.001]

q:

0.8

Ratio

0.6f

-10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~n0.02
>
£0.018
Ho16
9.014
>
B.012
o

(&}

£ 0.01F
(]
0.008
0.006
0.004F
0.002F

....................................

....................................

...................................

q

Ratio

0.8F--renn

0 2 4 6 810
Sim. PV z (cm)




	Contents
	Page 1


